
𝑓(𝑥) =  
𝑓(𝑥 + ℎ) − 𝑓(𝑥)

ℎ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 2

  Lim
ℎ→ 0ି

  Lim
ℎ→ 0ା  

𝑓(𝑥 + ℎ) − 𝑓(𝑥)

ℎ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 1

𝑓ᇱ(𝑥) =

 
𝑓(𝑥 + ℎ) − 𝑓(𝑥)

ℎ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 2

  Lim
ℎ→ 0ି

  Lim
ℎ→ 0ା

 
𝑓(𝑥 + ℎ) − 𝑓(𝑥)

ℎ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯= 2

Not Differentiable≠

Differentiable

   𝑥ଶ ;      𝑥 < 1
   𝑥   ;       𝑥 ≥ 1

𝑓ᇱ(𝑥) =

 𝑓(𝑥) = 𝑥
𝑓′(𝑥) = 1
𝑓′(1) = 1∗

𝑓(𝑥) =
             𝑥ଶ ;      𝑥 < 1
   2𝑥 − 1   ;      𝑥 ≥ 1

𝑓ᇱ(𝑥) =

𝑓ᇱ(𝑥) =

=

 𝑓(𝑥) = 𝑥ଶ

𝑓′(𝑥) = 2𝑥
𝑓ᇱ(1) = 2(1)
𝑓′(2) = 2∗

 𝑓(𝑥) = 2𝑥 − 1
𝑓′(𝑥) = 2
𝑓′(1) = 2∗

𝑓(𝑥) =    2𝑥 − 𝑘 ; 𝑥 ≥ 1
                  𝑥ଶ         ; 𝑥 < 1

Sub x value
and equate

 𝑓(𝑥) = 2𝑥 − 𝑘
𝑓ᇱ(𝑥) = 2
𝑓ᇱ(2) = 2

 𝑓(𝑥) = 𝑥ଶ

𝑓ᇱ(𝑥) = 2𝑥
𝑓ᇱ(1) = 2(1)
𝑓ᇱ(1) = 2

2 = 2

    2𝑥 − 𝑘 = 𝑥ଶ

2(1) − 𝑘 = (1)ଶ

      2 − 𝑘 = 1
              𝑘 = 1

Take derivatives 
Sub x and equate

Find k so differentiable.

Nothing to solve for.

  Lim
ℎ→ 0ି

 
(𝑥 + ℎ)ଶ − (𝑥ଶ)

ℎ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

 
𝑥ଶ + 2𝑥ℎ + ℎଶ − 𝑥ଶ

ℎ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

           
2𝑥ℎ + ℎଶ

ℎ
⎯⎯⎯⎯⎯⎯⎯⎯

         
ℎ(2𝑥 + ℎ)

ℎ
⎯⎯⎯⎯⎯⎯⎯⎯⎯

             2𝑥 + ℎ

𝑚 = 𝑓ᇱ(1) =      2(1)
𝑚 = 𝑓ᇱ(1) =      2

𝑥 = 1

  Lim
ℎ→ 0ି

  Lim
ℎ→ 0ି

  Lim
ℎ→ 0ି

  Lim
ℎ→ 0ି

  Lim
ℎ→ 0ି

𝑓ᇱ(𝑥) =            2𝑥

𝑓(𝑥) = 2𝑥 − 1

  Lim
ℎ→ 0ା

  Lim
ℎ→ 0ା

2(𝑥 + ℎ) − 1 − (2𝑥 − 1)

ℎ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

2𝑥 + 2ℎ − 1 − 2𝑥 + 1

ℎ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

2ℎ

ℎ
⎯⎯⎯

2𝑓ᇱ(𝑥) =

𝑓(𝑥) = 𝑥ଶ

ℎ→ 0ା
  Lim

𝑦 = 𝑚𝑥 + 𝑏

𝑓(𝑥) = 𝑥

  Lim
ℎ→ 0ା

  Lim
ℎ→ 0ା

(𝑥 + ℎ) − (𝑥)

ℎ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

ℎ

ℎ
⎯⎯

1𝑓ᇱ(𝑥) =

 
𝑓(𝑥 + ℎ) − 𝑓(𝑥)

ℎ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ℎ→ 0ା

  Lim

𝑦 = 𝑚𝑥 + 𝑏

 
𝑓(𝑥 + ℎ) − 𝑓(𝑥)

ℎ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝑓(𝑥 + ℎ) − 𝑓(𝑥)

ℎ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯
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